—— Bath Ark

Installation Specification

Niturra®2018 Late Edition ——




—— STATEMENT

Thank you for purchasing this vanity cabinet. This product is
constructed using only the finest materials and captures the essence
of timeless beauty and style. We offeranone year free customer
support service after the purchased. We hope you enjoy using this
product.

We'd like to make three disclaimers to the following instruction guide:

® This instruction guide is explained in reference to 36" wide vanity
cabinet. If your purchased cabinet is a different size from 36", the
assembly procedure will vary slightly but similar in general.

® The 24" wide vanity cabinet doesn't have a back panel. Instead, it
is assembled by a upper and lower panel across the side panels.

@ Picture below shows our four different sizes and designs:

—
E) =

& | &
[—(
E—
]
—
—
]




—— STATEMENT

B R R S BT X A . ARG MR E IR
HE7 Ak SRR R bR A HE, OB . RIRFEATR Rt N
ER PRI ENERRS -

ARBk B PRI B R Y = R Bt = — S
PR AL IE36" J0HER TG b e i, LUK A2
GRS i, RAR2MAAR, EREREEHAN, —.24" 18
AL B L Mrws, ShdRTRiERs =
PSR A BB, NES%, FRMITEE.

ﬁ — 5 —1
=
24!/ 30//
] 36!/ 48//
0B | ‘ = | | =

& | &
[—
E—
]
[—
—
]




NOTICE

® Please read this assembly guide thoroughly and carefully before
assembly

® Please ensure your assembly area is clear of any debris or sharp objects
which could scratch or damage the cabinet.

® Our cabinets are treated with paint, which can be fire hazardous, please
avoid storing in areas with high temperature or near the fire.

® Please take caution with small parts inside the package, losing or
misplacing them could affect your overall assembly

® We recommend using power tools (ie: drill, pneumatic nail gun, etc) for
your assembly. This will facilitate your assembly experience.

@ In event of missing or damaged/defective parts not caused by
wear-and-tear, please contact our authorized dealer for assistant and
we apologize for any inconvenience.

@ |f you are not a professional or have no prior experience in cabinet
assembly. We advise excessive caution and follow closely to this
assembly guide.




NOTICE

EZETaRD | B AREERR
RIEENZRAES | ARG A ERIARI@LA

R mAsiETm , BRTZME  BIHESE
BRI

FREMEURAENRE B | MEE AR, o]
RSN e AL

FERAETE | BRI TE (HEaiELT) , &
gﬂ?),ﬂu%@%&E§WE,@m%@§®ﬁ@,ﬁ
854

o —BERMY , FEANRIMIER | FERAR A HE

SRS | TLCARIETRAAEE | Bl TRRGEH

AR RRT | BRI B TR AR
T




— MATERIAL LIST

Face Frame

Decorative Bottom

N

Drawer Bottom Panel

Drawer Face

Side Panel

R

Z

Back Panel

Y

AY

Bottom Panel

Door Face

m/

Drawer Side Panel Drawer Back Panel




— MATERIAL LIST

Quantit
NO. ltem 30 363, 48"
1 Drawer Glide 041|412
2 |Drawer Glide Connector| O | 4 | 4 |12
3 BackBrackets | 0 | 4 | 4 |12
4 | SupportBrackets | 4 | 4 | 4
5 Door Hinge 4 |2 | 4
6 |L-Shape ConnectorClipl 4 | 6 | 6 | 6
7 | 11/8'PhiipsScrew | 4 | 4 | 4 | 4
8 | 5/8'PhilipsScrew | 20 | 18 | 24 | 32
9 1/2"Philips Screw | 24 | 24 | 24 | 24
10 | 1/4'PhilipsScrew | 0 | 8 | 8 | 24
11 |11/4'Machine Screw| 0 | 2 | 2 | 6
12 | 7/8'Machine Screw | 3 | 2 | 3 | 3
13 Knob 3141519
14 Bumpers 4168 |16
15 Leg Pad 4141414
16 | Leg(Mor®) (4| 4|4 |4

® [tems 11, 12, 13 are not provided in this product , please
don’ t forget to have them ready prior to your assembly.




— INSTRUCTION

STEPTER

STEPTEA

P Place the face frame in a face down position
to a flat surface. Secure the L-Shape
connector clip with 1/2" Philips screws to
the pre-drilled holes # &

P SHIEEES THETATHE , AEERSE
WHEERRE , Y2 BLET50 +7
BRET  REGER= N ERRBDEEY

P As show in this picture, slide the side panel
into the face frame's groove located on the
left or right. Then, secure the side panel to
the L-shape connector clip #@using 1/2"
Philips screws. Repeat this step for the
other side panel.

D ETHUTAEEESR , HENGENRER
%8 @ A BLELTERIR ; FE
R —RURBRR S R

I



— INSTRUCTION

STEPTEXN (13

P After securing both side panels, slide the
bottom panel to both side panels' grooves
and make sure its fully inserted. Then secure
the bottom panel with the side panels using

a L-shape connector clip. Please repeat this
step for the opposite side.

D RERBHURE  REEE (0BF) | IR
EMIREA , FHRIONES , (FSNER
ZENE @ Fir , MR SRR
BB ERAREY BLBLIEE, 5
—MFE

o

s

P Now slide the back panel to the back
grooves of the side panel. Make sure its

fully inserted, then nail the side panel to the
back panel. (About 1/6 to 1/4 inches from
the end of the side panel, see picture #@).

L1 We suggest three nails per side panel.

P ERZEERR  BUHER (NER) | &AL
BN, BIR  FRAELE  BRRRRA
B (RIEBOFRE (BRias-7mm )
TTNESHEET (BUID=AREDT )

8




— INSTRUCTION

STEPTE

STEPTEA

P Secure the decorative bottom panel to the
bottom panel previously installed. Secure
them using 1 1/8" Philips screws to the
pre-drilled holes on the back panel. Then
installed the cabinet legs to the decorative
bottom panel.

P SHEER  RHEERR (M) | SKR
WER , R O Fr , FLY8 "BL5] SRR
TERERE ; BIRATSRLAD O
IR ke AR

P Turn the cabinet box to the standing
position. Secure the top four corners using
the "Support Brackets". Use 5/8" Philips
screws. Two screws per bracket will be
enough.

P BHRETE | BRI, ERSERETIEK
R, MO BT, FESEATRTE, B
5/8" BASTRESHEAERE , LN O BRA
FMgLL | eI 2

9



— INSTRUCTION

STEPTEA

P> After securing the four corners with brackets. Attach the back bracket to the
pre-drilled holes on the back panel.Then, as shown on #@slide the U-shape end
of the drawer glide into the back bracket, adjust the depth accordingly. Lastly,
secure the front end of the drawer glide to the face frame using 5/8" Philips
screws. Make sure the front of the drawer glide is recessed approx. 3mm from
the face frame. (Not flushed with the face frame)

P MEEER RO BT, GRIERHRA SRR AR O BiR
 GRMERURERARRHA , RIELRERRAERS  RE0 0 B, B
5/8" BESTRIRHSANERE , RHATRILAIEINDEAL3mm

Picture shown is the complete set of the drawer
glide. Part shown as semi-transparent indicates
this object is movable, which will help in

identifying in the following step.

BrAaERRNTEE  FERPIRL
B, ERARE SRR AR

10



— INSTRUCTION

STE PT ﬂ @ Assembling the drawer box

P After securing the drawer glides to the cabinet box. Assemble the dove-tailed drawer box. Properly secure the dove-tailed drawer box
panels with each other. Attach the drawer glide connectors underneath the drawer box as shown on #B (Two connectors per drawer box
as shown on #C). Secure the connectors using screws at the location shown #@ and #@on picture B.Then, position the hole (Picture C,
#@) on the back of the drawer box and insert it to the movable glide mentioned in Step 7 (Refer to Picture D, #@®). Once inserted, push
the drawer box all the way into the cabinet box, the drawer assembly is complete.

P SRNSEAERE , SRENE , MEREREES , NEATRNMHESEET ; SEAHHERESL , RUMBRRERE (N8
BRER) | DRITERED , ONEREEENSNELTER (ZHHECEER) | KRR HERRERR  SRECH
ERMIREALOSEDTRBIVMIBHEG (%0 THa] , FEESTEPT 7 H{RHNSE ) | BORNOT , 5— R , EiSHERE
HHERR | TR

11



— INSTRUCTION

STEPTEN

P Last step, install the doors to the face frame
using provided hinge shownon# @ and
#@ . Using 5/8" Philips screws, attach one
end of the hinge to the pre-drilled hole on
the door and attach the other end of the
hinge to the pre-drilled hole on the face

N
=

COMPLETE

frame.
P HTRE—S  REIR, 2BEO FrE
iR, F5/8" BT RS RERE ; BSR
O B R R SHIERIRAS/S" B4
S EEE. Bl DRSS

12




ACCESSORIES




Your Dream We Build

Niturra® Product Department ——




More Information www.niturra.com



ACCESSORIES




Your Dream We Build

Niturra® Product Department ——






